= Arg(“) - 7A¥ f‘5<e‘m):i~.l J\—\s

L) (e fom gz l21¢q

) Cead
2

l2(=¢

z

/
/
=(Z:‘ : ?@I =

lo) 9Lzd>=2%- QCZ)\>}%Z©(250[Z-)§ 2dlz

;-}Zs‘(crzl\/\»




22
Sé d== C 3¢ c(rkelbage_n \Z—Z\:i

Z:‘Z_’LvB

. [

Qyorde o redan det po 0@P6§g6@

f[\\.los

$rﬂ(z) a N w
e ) d?.=o E”__:'ﬂc&_oh;enﬁ- e wnh. c,t'r}

C
sin(2) ‘ et
eQEC(—SOM e ' _ Zq' 5(’ hc)\omc.r@ i __(?_ (e,y\h c >

(

och C 2S¢ a\O{Z—C,Y\. Cavenys {nteara\gmts‘

| AN
_o.\q S Ctddz =3 i i le-l=2
(=

5 ocibek
O:> _Lle.;) CLC«& W\&b‘tc Q'\ﬂna.s en su\SOl cite

innon Y€ C,

b)ia) 5;’\30[0.:6'&:,{::/\ kan (?33& CJans

Ler helu @\GJ\'

S%dw=25\‘\°€‘=
(&

;hé C-Qra [ Co(‘ Mf,é,

Cauclfny S




